



4100, 77 Street
 Red Deer Alberta T4P3P7
 CANADA
 GST #: 736899923
 Jun-2-2025

Invoice:
 73158

Page:
 1 of 6

Y12-1
 BLUE-MAR

<u>Customer Info</u>
DYNAMIC CAPITAL EQUIPMENT FINANCE INC
Contact:
Email:
Phone:

<u>CHECK-IN</u>		
Advisor:	Date In:	PO:
Priority: Normal	Date Out:	

<u>UNIT-INFO</u>			
Odometer	Hours	Build	Colour
Year	Make	Model #	Engine Size
InServ Date	Truck <input type="checkbox"/>	Trailer <input type="checkbox"/>	
Blower Hours	Water Pump Hours	Boiler Hours	

<u>Operations</u>

TASK	DESCRIPTION	SHOP RATE	HOURS	TOTAL
LABOUR - 10	ADD 4 NEW BATTERIES INSPECT BLOWER Service Call Labor 132	\$132.00	83.41	\$11,010.12
PART	DESCRIPTION	QTY	PRICE	TOTAL
108X/S31S-950	31 GROUP BATTERY - NEW WEST	4.00	\$166.65	\$666.60
HVAC-12397	WATER BLAST COUPLER FEMALE, DIXON 4EAF4	2.00	\$146.57	\$293.14
HVAC-0801	CONNECTOR MALE WATER FD69-1002-08-08	1.00	\$51.07	\$51.07
PFT-0360	CAMLOCK CAP 4" DUSTCAP P/N N48-400AL	1.00	\$23.24	\$23.24
PFT-0356	CAMLOK ADAPTOR 4" MNPT X 4" MHOSE ALUM P/N N47-400AL	1.00	\$21.00	\$21.00
PFT-0358	CAMLOK ADAPTOR 6" MNPT X PART F AL NEW-LINE N47-600AL	1.00	\$48.58	\$48.58
PFT-0354	CAMLOK ADAPTOR 3" MNPT X 3" MHOSE ALUM	1.00	\$14.37	\$14.37
ELC-1382	LIGHT LED 2 1/2" RED JETCO #127-17002RCL	1.00	\$16.37	\$16.37
HVAC-1205	PRESSURE PROTECTION VALVE CHELSEA 378414	1.00	\$120.00	\$120.00
HVAC-5218	HYDROVAC DECAL PACKAGE - ORANGE	1.00	\$113.05	\$113.05
HVAC-0180	DUMP DOOR HINGE PIN	1.00	\$63.10	\$63.10
MIM-0279	LINCH PIN 66451 (1/4" x 1 1/4")	2.00	\$1.30	\$2.60
PFT-0503	CAMLOK CAP 8" DUSTCAP - (X4 SILVER LATCHES REQUIRED) AL-DC800	1.00	\$196.88	\$196.88
PFT-0361	CAMLOCK CAP 6" DUSTCAP P/N N48-600AL	1.00	\$53.19	\$53.19



4100, 77 Street
Red Deer Alberta T4P3P7
CANADA
GST #: 736899923
Jun-2-2025

Invoice:

Page:
2 of 6

VBA-0012	BALL VALVE 1/2" NPT FP 3000 PSI SWEET NUTRON - MODEL # T3-F05S30B- TESTED TO API 607 4TH ED	0.00	\$0.00	\$0.00
VBA-0108	BALL VALVE 3" NPT BRASS - # N10004-300BR	1.00	\$191.00	\$191.00
PFT-0014	CAMLOK CAP 3" DUST ALUM AL-300DC (N48-300AL	1.00	\$17.25	\$17.25
HVAC-1776	GUN WAND ASSEMBLY WASH GUN ASSY:1-PA-VEGA TRIGGER GUN1-SU-ST7 36 INCH WAND1-AD-5151 COUPLING1-ZZ2512B NOZZLE	1.00	\$102.75	\$102.75
SRV-1104	3" PLASTIC SIGHT GLASS (GLASS AND o RING) #1093-0003zap	1.00	\$19.35	\$19.35
SRV-0927	BANJO FILTER WITH HOUSING 2" Y STRAINER, BANJO 2", PN-LS200-50; SPP77305, SPPLS200-50	1.00	\$186.66	\$186.66
SRV-2283	HOSE REEL SUPERSWIVEL HR41-0001/Part # 9927.8551/NSB5504-08-08	2.00	\$140.88	\$281.76
ELC-1409	HOURLMETER PART#3410-2000	2.00	\$54.44	\$108.88
SRV-0015	PRESSURE INDICATOR 4" DIAL X 1/2" NPT BM 0-5000 PSI SSDUAL SCALE WH10982P	1.00	\$87.75	\$87.75
ELC-1410	CLEAR WHITE 4" LAMP JETCO #127-44050W	1.00	\$89.18	\$89.18
VGA-0007	GATE VALVE 6" KNIFE BRASS LEVER OPERATED THREADED 1060-0000mz	1.00	\$649.83	\$649.83
HVAC-0826	FLOAT ARM PACKING KIT CONSISTS OF: 3-VPT0750-1120 1-VPT0750-1121 VPT0750-1122 OR VPT0750112S AS A SET	1.00	\$18.75	\$18.75
HVAC-0228	SEAL DUMP DOOR HYDROVAC ES12-002-E70 ELASTOPROXY	18.00	\$9.48	\$170.64
SRV-7227	PLUG - 2 WIRE 67050GRC	1.00	\$3.17	\$3.17
SRV-0012	URETHANE - PRO FORM / SEAL GLUE	3.00	\$26.28	\$78.84
PFT-0226	NIPPLE 1/4" X 1-1/2" SCH XH/80 TBE SA106B	1.00	\$2.70	\$2.70
PFT-0241	ELBOW STREET 1/4" NPT 90° BLM	1.00	\$1.72	\$1.72
PFT-0744	BUSHING 1/2" X 1/4" NPT 150# - STAINLESS STEEL	1.00	\$4.43	\$4.43
BRAF-1109	FITTING 3/4" HOSE BARB X 3/4" MNPT 90 NEW-LINE N410-075-075	1.00	\$12.78	\$12.78
HVAC-10517	HOSE, INDUSTRIAL CLEAR BRAIDED, 1" NEW-LINE NL1240-100	2.00	\$2.77	\$5.54
PFT-0925	ELBOW STREET 1" NPT 45 CLASS 150 316SS	1.00	\$36.11	\$36.11
PFT-0881	KINGNIPPLE 1" MNPT NEW-LINE N10-100SS316	1.00	\$19.86	\$19.86
VBA-0161	BALL VALVE 1/2" FNPT 3000 PSI	2.00	\$83.56	\$167.12
VGA-0008	GATE VALVE 8" KNIFE BRASS F X F PISTON FLANGED 4-BOLT 2008-0000mz	1.00	\$915.00	\$915.00
ELC-1976	RUBBER GROMMET 4 INCH, TRUCKLITE #40700	1.00	\$4.94	\$4.94
HVAC-2639	RATCHET STRAP WITH D.O.T. LOAD TAG W/WIRE HOOK,1 inch X 6 FT	4.00	\$18.20	\$72.80



4100, 77 Street
 Red Deer Alberta T4P3P7
 CANADA
 GST #: 736899923
 Jun-2-2025

Invoice:

Page:
 3 of 6

ELC-1971	BACK-UP ALARM - GROTE MODEL #:73040	1.00	\$44.45	\$44.45
MIM-0298	SANDWICH BOARD W/ HANDLE 24" X 36" X 1-1/4" THICK	1.00	\$247.21	\$247.21
HVAC-2530	8" DIG TUBE ASSEMBLY	1.00	\$731.31	\$731.31
HVAC-2531	6" DIG TUBE ASSEMBLY	1.00	\$535.13	\$535.13
HVAC-11019	LOGO PLATE	2.00	\$69.98	\$139.96
HVAC-12170	SAFETY KIT	1.00	\$357.38	\$357.38
SRV-0067	ISO 220 EP FULL SYNETHETIC	10.00	\$15.67	\$156.70
SRV-0062	CHEVRON REGAL R&O ISO 68	4.00	\$11.50	\$46.00
SRV-6400	BALL VALVE 1 1/2" BRASS FULL PORT 600#	1.00	\$41.55	\$41.55
SRV-2519	MAXXFAN WITH WIRELESS REMOTE RV PRODUCTS, # 147-287500K, SMOKE COLOUR(Track Fan Serial Number) SAME AS HVAC-2519	1.00	\$471.00	\$471.00
HVAC-1362	DIG TUBE EXTENSION, 6", ALUMINUM, VACTOR STYLE FLANGE	2.00	\$303.26	\$606.52
SRV-2641	CLAMP, 6" LOCKING DIG TUBE, ASSEMBLY	3.00	\$112.20	\$336.60
HVAC-3985	CLAMP, 8" LOCKING DIG TUBE, ASSEMBLY	2.00	\$130.02	\$260.04
SRV-1307	REDUCER - PAINTED - 8" x 6" WELDED ASSEMBLY, DWG#REF - L1-BOO-T800-FIT- W03-0	1.00	\$266.67	\$266.67
SRV-1533	VACTOR STYLE FLANGED REDUCER 8" TO 4" NPT L1-ACC-0010 BLASTED AND PAINTED	0.00	\$0.00	\$0.00
ELC-1926	WORK LIGHT ROUND FLOOD 1442RF SPD 10-20022	4.00	\$100.00	\$400.00
SRV-0001	ALUMINUM DIG WAND 1/2" X 8' WITH MALE WATER CONNCTOR (NO JET HEAD)	3.00	\$155.00	\$465.00
ELC-1343	OMNEX REMOTE SYSTEM ASYS-2489-346 - WITH 20' CABLE	1.00	\$2,856.25	\$2,856.25
ALUMINUM CHECKERPLATE	ALUMINUM CHECKER PLATE	1.00	\$199.72	\$199.72
P112786	TWO GANG DEVICE MOUNT BLANK COVER, STANDARD SIZE RED DOT S440E-R	1.00	\$15.98	\$15.98
SRV-1598	REDUCER 8" TO 3" VACTOR STYLE - PAINTED - L1-ACC-0010-W02-0	1.00	\$106.64	\$106.64
PFT-0354	CAMLOK ADAPTOR 3" MNPT X 3" MHOSE ALUM	1.00	\$14.37	\$14.37
SRV-5993	ST-457 TURBO NOZZLE (1/2" FPT), 6000 PSI, 10.0 ORIFICE SUTTNER AMERICA COMPANY P/N 200457710	1.00	\$177.47	\$177.47
SRV-1396	WAND NOZZLE CARBIDE 085	2.00	\$31.50	\$63.00
SRV-1354	SINGLE JET WASH WAND HEAD URETHANE COATED WE1150SSUC	2.00	\$87.03	\$174.06
SRV-2120	7" x 4'	1.00	\$75.00	\$75.00
SRV-7812	COOLANT - TRP ELC 50/50 JUG	3.00	\$19.99	\$59.97
HVAC-11993	MUD FLAP - 24IN x 14IN TORNADO LOGO BLUE	4.00	\$27.04	\$108.16



4100, 77 Street
 Red Deer Alberta T4P3P7
 CANADA
 GST #: 736899923
 Jun-2-2025

Invoice:

Page:
 4 of 6

SRV-6016	NAMCO YOKE RETAINING NUT 1227-D-940-S#60	1.00	\$17.83	\$17.83
HVAC-0786	NAMCO T-CASE OUTPUT/INPUT SEAL NLS01 4159913.5" x 4.501" x 0.468	1.00	\$52.26	\$52.26
HVAC-1512	NAMCO COMPANION FLANGE 1810 P/N 6.5-1-741Use spicer bolt only	1.00	\$826.67	\$826.67
SRV-0066	75W90 FULL SYNTHETIC	10.00	\$17.48	\$174.80
VBA-0108	BALL VALVE 3" NPT BRASS - # N10004-300BR	1.00	\$191.00	\$191.00
A22-78457-002	GAUGE-RES B PRES,BRI,PSI	1.00	\$398.68	\$398.68
SRV-0504	12V RELAY 35 AMP SPDT 12V #301-1C-C-R1 UO1 12VDC	1.00	\$11.42	\$11.42
N10107-300BR	3 NPT BRASS 3-WAY BALL VALVE w/ISO MOUNT PAD	1.00	\$0.00	\$0.00
PFT-0023	BUSHING 2" X 3" NPT	1.00	\$14.20	\$14.20
PFT-0076	NIPPLE 3" X 5" SCH XH/80 TBE SA106B	1.00	\$101.98	\$101.98
PFT-0890	ELBOW STREET 2" NPT 45 SS NEW-LINE N220-200SS	1.00	\$88.78	\$88.78
PFT-0431	KINGNIPPLE 2" NPT X 2"HOSE P/N N10-200GS	1.00	\$6.08	\$6.08
PFT-0014	CAMLOK CAP 3" DUST ALUM AL-300DC (N48-300AL	1.00	\$17.25	\$17.25
PFT-0354	CAMLOK ADAPTOR 3" MNPT X 3" MHOSE ALUM	1.00	\$12.98	\$12.98
HVAC-1667	HYDRAULIC FITTING N2404-08-08 (08 MJIC x 1/2" MNPT STRAIGHT RIGID)	1.00	\$1.85	\$1.85
HVAC-9204	WATER LINE, BOILER TO HOSE REEL	1.00	\$88.42	\$88.42
PFT-0537	ELBOW 3" NPT 90 BLM	1.00	\$255.00	\$255.00
CVIP AND REPAIRS	CVIP AND REPAIRS	1.00	\$12,512.78	\$12,512.78
SHOP SUPPLIES	SHOP SUPPLIES	1.00	\$500.00	\$500.00

Miscellaneous Charges

Shop Supplies 500.00

Labour: 11,010.12

Parts: 28,660.09

Misc: 500.00

Line 1 Total: 40,170.21

- Taxes -				
<u>Line</u>	<u>Description</u>	<u>Amount</u>	<u>Percent</u>	<u>Taxable Amt</u>
1	GST#736899923	2,008.51	5.00 %	40,170.21

Total	Labour:	11,010.12
Total	Parts:	28,660.09
Total	Misc:	500.00
	SUBTOTAL:	40,170.21
	GST:	2,008.51



4100, 77 Street
Red Deer Alberta T4P3P7
CANADA
GST #: 736899923

Invoice:

Page:
5 of 6

BASE	INVOICE TOTAL:	42,178.72
------	----------------	-----------



4100, 77 Street
Red Deer Alberta T4P3P7
CANADA
GST #: 736899923

Invoice:

Page:
6 of 6

Comments: VIN# 5KKPALDRODPBX3294/019571/

Dynamic Capital

SRV003244

March 19, 2025 - May 26, 2025

OP 10 # 5128, 5027, 5021

- unit brought around to back of the service building
- unit was function tested- blower and t case
- inspect the unit for deficiencies
- fill the unit with water
- test the pump and boiler
- fill the waste end with water and check for leaks
- dump all the water off the unit
- retrieve parts from the warehouse
- batteries completely dead
- remove replace 4 batteries
- bring unit inside
- install new hour gauges in the control panel
- install new dump door retention pin (RH)
- the LH dump door retention pin is seized in the holder
- try to hammer the pin out - no go
- used the torch to heat the pin holder and pound out the pin- still can't get it out
- finally used a small hydraulic jack to press the pin out
- clean up the pin bore and install the new pin
- change out the RH front tank work light
- change out the 3" ball valve
- remove the 6" gate valve from the dump door
- clean up threads and install a new valve
- install the 3" camlock fitting
- change out the hose reel swivels (x2)
- refill glycol tank
- locate parts for valve handle replacement
- install fittings at front of the tank
- hydraulic cooler not working broken wire fixed
- hydraulic block pressure set to 2000 psi
- change oils in blower water pump and t-case also checked breathers and cleaned
- install decal kit
- install metal tornado decals x2
- left fender marker light installed
- remove replace backup alarm
- passenger side reverse light removed and replaced
- 1 rear light grommet changed
- wrench holder loose/ fixed
- install new remote
- replaced all broken rusted P clamps
- remove replaced 4 work lights
- upper dig tube rack loose fixed
- install safety kit
- float arrow loose/leaking fixed
- 8" gate valve leaking replaced
- cyclone clean out cleaned out
- remove replace dump door seal
- install vanbody roof fan
- install screen and clamps for waterpump coupler shroud
- install dig tubes, wash wands, dig wands, clamps and ratchet straps
- remove replace 3" gate valve and fill valve on water fill line
- fill truck with water test
- dump water and winterize
- Truck complete

Customer Signature: _____

Date: _____